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Figure 4.47 (a) High- -frequency equivalent circuit model for the MOSFET. (b) The equlv_lént circuit for the case in wi
the source is connected to the substrate (body) (c) The equlvalent circuit model of (b) with C,;, neglected (to simplify
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Figure 4.49 (a) Capacitively coupled common-source am
in (a) delineating the three frequency bands of interest.

Ju
{h

plifier. (b) A sketch of the frequency response of the érnpliﬁer

f(Ha)

} m:kf’d/kﬁ
frequency breakpod

OLu,.& ‘J'o %d"" Cdb

M @««:/—ow‘ carcuw ot




et C
A/ 7
)C

/

et
{

lhack capacii
+
V.

Cp=

'
e

= Cr s

-/
1L

1

W S

i
I,

e ~ | x

H i
; L4 T
H i
i i .
! i {
i ; o :

o~ &
/

Y
)

/- |

-

Gty /-€
+
V.
]
y
V)
]

Iz
)

Y,

o —-A /

?v

- (- N2 )

- <sC
o
sC
sC

/
InVEsT 'y ‘

|
l
A
‘\
(
(i +

|
—
I, =
——

+ :, g
H ‘ LY
o 4 i
ot o be i i ‘v
Foaid : R - -
i j T T g APy
. ~
i i & i 1
RO T H .
i
H -
i o
| ]




fh-beppeney 1ol-off
Y ! .

1

§ M,/-«AW/
ﬁﬁ% R, ¥ ?} ’dds = M 1{}5
e
*

0

Find Hhoo egwo(ad
(;ac- 5 Gy (\95-—\/0) |
) e =$%at\/s([ (j@_’)
X5 L uslnj% rid - ba ol :

5%4 (1+04M/€ )

— ’
;«—m o g Cei,\/; i
e s
- ‘@;_—» rlﬂﬂlKL
)

Flgure 4.50 Determmmg the hlgh -frequency response of the CS ampllﬁer (a) equlvalent circuit; (b) the circuit of (a)
smphﬁed at the input and the output;
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Figure 4.50 (ContmueaD (c) the equivalent circuit with C,qreplaced at the input side with ze equivalent capacitance C.p
-(d) the frequency response plot which is that of a low pass single-time-constant circuit.
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Figure 4.51 Analysis of the CS amplifier to determindfits low-frequency transfer function. For simplicity, 7, is neglected.y
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Figure 4.52
- sufficiently s arated for their effects to appear distinct.

{log scale)

etch of the w-frequency| magnitude response of a CS amplifier for which the three break frequencws are
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